84. In which paper the lowest marks were obtained by the
candidates 7 <

(A) 1 (B) 1
(©) 1 (D) IV

84. Which candidate has secured the highest percentage in the papers
appeared ? S '
(A W : (B) X
© Y (D) Z

Part (C) - English Language Competence Test (15%2) = 30 Marks

Read the following passage and choose the correct answer of the
questions given below: : ] :

Three-fourths of the surface of our planet is covered by the sca, which both separates
and unites the various races of mankind. The sea is the great highway along which
man may journey at his will, the great road that has no walls or hedges hemming it in,
and that nobody has to keep it in good repair with the aid of pickaxes and barrels of
tar and steamrollers. The sea appeals to man's love of the perilous and the unknown to
his love of conquest, his love of knowledge, and his love of gold. Its green, and grey, '
and blue and purple waters call to him and bid him fare forth In quest of fresh fields.
Beyond their horizon he has found danger and death glory and gain.

In some great continents such as America and Australia there are towns and villages
many thousands of miles from the coast, whose children have never seen or hears-or
felt-the waves of the sea. But in the British Isles it is nowhere much more than a
hundred miles from the most inland spot. The love of the sea is in the very blood of
the British people. i

Comprehension questions: (5%2=10)

86. How much of our planet is not covered by the sea?
(A) three-fourths of the planet
(B) half of the planet
(C) one-fourth of the planet
. (D) more than one can measure
'87. The sea helps a man
(A) in raising walls on the coast. -
(B) inbuilding great roads. | '
(C) in making journey at his will all around the world.
(D) in clearing hedges in hemming the sea water.
88.  In what way does the sea appeal to man?
(A) Itinvites man to amass gold hidden under the sea-water.
(B) It helps man take lessons from the perilous waves and stay at home.
(C) It bids man to venture out in quest of new places. )
(D) It makes man wax eloquent about the futility of adventures deeds.

wm&azam.mumm-ms



89.  The children have not responded to the call of the sea
(A) Inremoter town and villages of America :

(B) .In Great Britain
(C) In Nepal
(D) InIndia

90.  The sea has been compared to

(A) asteamroller

(C) aspacecraft in motion

Vocabuiary question:

(B)
(D)

the great highway
hedges hemming it

(5%2=10)

Choose from the following list of words, a word that is most nearly
* opposite in meaning to the word in capital letter.

91. CONSOLIDATION
(A) Restriction
(C) Fragmentation

. 92. SECURE
(A) Infest
(C) Implant

93. VALOR
(A) Admonition
(C) Cowardice

94. LAVISH
(A) Hostile
(C) Timely

95. UNEARTH
(A) Conceal
(C) Clean .

Syntactic ability question:

(B)
(D)

(B)
(D)

(B)
(D)

(B)

(D)

(B)
(D)

Opposition
Provocation -

Decent
Unfasten

Injustice
Generosity

Unwashed
Frugal

Gnaw
React

(5x2=10)

96.  Choose the right verb to show Antecedents and other Agreement:

Two ladies had
(A) it's
(C) they

(B)

-hand bags stolen at the seminar

his

(D) their

97. = Choose the right alternative for the underlined Price are going up

by leaps and bounds.
(A) Irregularly
(C) gradually

e ey S L

(B)
(D)

rapidly
systematically



98.

99,

100.

Which of the following sentences is grammatically right?
(A) 1am unable to return | don't complete my mission.

(B) 'Tam unable to return unless I complete my mission.

(C) 1am able to return unless I complete my mission.

(D) Iam able to return, | complete my mission.

Which of the following is a noun ?
(A) Heighten ' (B) Perceptual
(C) Abbreviate . (D) lgnorance

Choose the correct alternative of the given sentence for indirect
speech.
He said, "1 clean my teeth twice a day.”

"(A) - He said that he cleaned his teeth twice a day.

(B) He said that he cleans his teeth twice a day.
(C) He said that he used to clean his tecth twice a day.
(D) He said that he used to cleaning his tecth twice a day.

3
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UG 3 WO fd: 09012130 T
Tll‘ff: o0 )
S ¢ £ i i
foreg: s goret

{Governance Systems)

= yeeEs OBTER | (Answer of the following questions)
WMWWWWWIWﬂIWR
9 : : e

) GV (Section) — (A) (B x10)=30
% mmwwﬂiﬁthamwaﬁmm
: | | _ -
Give the specific characteristics of governance and show the major differences
between governance and government. : J(5+5)

R Wmmmmrémgww
SRS ? AT TR |

Explain the necessary reform measures to make Nepalese administrative
structure people friendly. 10

3. AV THAAE o, i e WIS TR G sy

T T T 9 e e o nd
Wmtmﬁmmmwﬁm

Briefly . explain the challenges that hindering the assurance of right to
- information in Nepal's current socio-economic and political situation and also
mention the limitations of right to information and transparency. (6+4)

W(Secﬂon}uﬂ?’) - (2x10)=20
¥. mmm,%aammamﬁwmm
. tﬁﬁm@mmmnmﬁnﬁqﬁa?ﬁawnj@m

Discuss how effective check and balance of power between 3 main organs of
the state has been managed in the Interim Constitution of Nepal, 2063. 10

SR TR W L B



£

@

“FR T B SEYROTE 9U THEE T AU FEA TS

HAEATR HEaTg THery |

Explain the concept of "rule of law" and evaluate the state of rule of law in

Nepal, ' (6+4)-
EUE (Section) — (C) (3x10)=30

T I WA W 7 AOH HES s T
T AR FErT et faeme goamges fad= TR |

What is "Political Neutrality"? Identify and discuss the present problems
regarding its use in Nepalese public management. (3+7)

TSR ¥ YOROR YHESERI Qe TUed Ao TR
TV HeHEE 0@ e TEE Hal YAEer FHEEHR

TEAEA HUT SRITH TE TERES GHIE TR |

Mention the innovative inifiatives taken for effective public service delivery in
Nepal and review the major problems of public service delivery encountered in -
order to make it effective. (5+5)

. ot we w@mﬁmmﬁmm
I TR |

Shading light on the objectives of publlc service charter”, mention 1ts benefits.
(5+5).

2

@US (Section) — (D) (2x10)=20
e dunE fasas ﬁé}wwmrﬁm AT SRAT
T T |

Mention the characteristics of human resource devclopment and justify the need
of Human Resource Management. (5+5)

o, TRl VW YGER ==l TR A YUGER quew. G

AT Tl FREHER F= THer |
Explain government accounting system and discuss the contribution of this
system to financial management in Nepal. : (4+6)

. 1w
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i) ﬁm A TSR G i, smfatie awe fafv= SEvaE, e
mmwmmmm '
firfir: 20190/23/38 T
O G |
ﬁ'ﬂl‘ : YHEEAS f (Contemporary lssues}
= TveEs @'q@ﬂ{ i (Write answer of the following questions)
WMWWMWMW%I mmzargﬁawq
el
@U?s’ (Section) - ( A) —"n (3x10)=30
R) U YRR i T FRUEE 6T TE Wﬁqawmfa‘:
I ITEE FTora THIS 2 S G i |

State the causes of corruption increase in Nepal. What measures shall be taken
to control corruption, give your own suggestions.

) mm'mwﬁammammmm
W%%@W?Hﬁffﬁ‘@ql

Introduce the concept of social conflict. What are the major sources and causes
of social conflict in Nepal ? Explain.

3) mmm%%a7mmﬁmm
T SEREEAR faaE TR |

What are.the reasens of population growth ? Exp]am the impacts of population
growth in the developing nations. -

GUS (Section) — (B) ' (2x10)=20) -
¥) HRRE T S S GEIET 2 s e T 2R o
ST e TR | _
What do you mean by Foreign Investment ? Describe the mterre]auon between
Economic Development and Foreign Investment

) Wtéﬁaﬂmﬁamﬂamtﬁ"ﬁnﬁﬁm

”Poverty and unemployment aré inter-related” prove this statement.
EUE (Section) — (C) 3x10)=30

&) Towms @it Wt T Fefl €eefte seenia smumoEr fad=m
TR | A T SRR ufrs R 3 2

Explain the concept of Public Private Partnership (PPP) for development. How.
do you see the future prospects of this concept in Nepal.

T Frefuiey St W



) mmmﬁmmmxm@m

Y s ST T W 2 <= TR |

How least-developed countrics can harmonize their dependency on natural
resources with environmental aspect of sustainable development 7 Describe.

¢)ﬁﬂwﬁmgﬁmﬂ1wxﬁm1@mﬁwﬁm

R)

TERRY |

Analyse the role of state and decentralization in the development process of
Nepal.

g (Section) — (D) (2x10)=20
S T e A T A TR § % W O
?g@,mammmmmﬁm_mmaﬁ ;
fere, ¥ TR TR SR e YR TR | '

What are the social and economic sensitivity of energy crisis in Nepal 7 Suggest

effective measures to be realized for promoting alternative but environment

friendly sources of energy in the country.

ao)mnﬁaﬁﬁﬂ%%?mqﬁaﬁmmtﬁ_

.mﬁﬂwﬁmﬁmmnﬁm

What is climate change ? Mention the effects of climate change and measures to

" mitigate those effects.

~m' 1
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T TSH 99N S Wi fefad vhe
fafe : J00/20/3%

T ; L T 30 Pz | - g : oo
9%: I9H ) )

o gemaf srfrest T (Administrative Aptitude Test)

Part (A) - General Awareness (60x2 = 120 Marks)
1. fodwen wht vEerd 3 sire 2

The Chief of the police in Lichhavi period was called ?
(A) ¥ (Bhatanayak) (B) IOIEIET (Baladyakchhya)
(€) TUSTHAR (Dandanayak) (D) FHEUSHIAS ( Sarbadandanayak)

mﬁﬁmmmawwa&m ? Who was the first
chairperson of public service commission of Nepal ?

(A) Tr=ar 58 gum {Nagendra Man Singh Pradhan)

(B) W@l@'{ e {Kulshekhar Sharma)

(C) IGTY WIS (Yadhunath Khanal)

(D) F=EEIGT Y97 (Chandra Bahadur Thapa)

ﬁwne&@mﬁgﬁ@mwﬁaﬂmWﬁw
& ?

For the appeintment of which posi'tion parliamentary hearing
process in not required ?

(A) Tal=a fEToae! grafim (Judge of supreme court)
(B) E )1 UNIGH (Nepalese Ambassador) * _
(©) '{Tfs?l IS SRR SUTHAET  (Vice Chairman of National -

Planning Commission)

(D) HETSEN TIETH (Auditor General)
TSR AATIER e HhE TREE Iered W 1 ?

How many Appellate Court are under judiciary of Nepal ?

(A) 13 : (B) 14
<y 15 : (D) 16

iR TrePeRy I WL



Ty, §, b, ¢, P Ao SR §Y
T8 R, 2qu,wz,aﬁq@mmmmﬁ
frfee Ty U SRy, T WEl FreaR G T TR | The

next four questicn (Question No. 5, 6, 7 and 8) are based on the following Table;
Here list 1, list 11 & list III are interrelated among each other. Find the related

among themselves and select the correct answer using the codes given below.

aE R g R R 3
(A) R00% |2) TII® HTHR AUl FrE |1 Hed I (Mohan
(Government of Nepal Constitutions) Shumsher)

B) 3009 |3) TU@ ST UM |0 TGH YRR (Padma
{Constitution of Kingdom of Nepal) Shumsher)

©R0% |3) Joow orRE WEA fAUE(mL TS TR (King

o D

. (Nepal Interim Constitution) Mahendra)
(D) R02% |¥) FIEH HEAYM (Constitution of |IV. F¥T FHIQ W
Nepal) . (Krishna Prasad Bhattarai)
s TR 3 TEX | FER
A a i Jis
B b "l i

C € iv 2
D d iii 4

6. HS I % TR R I 3
A a 1 ii
B b 3 v
C 6 2 v
D d . 4 vi

7 T - TR ¢ T 3 E 2
A b 1 ii e
B [ 3. iv
& d 4 iii
D e 2 vi

8. S TE * T R T 3
A b ) 2 ii
B c . % iv
5 d 4 i -
D € 2 vi

maﬁ@m.nﬂmmmm‘f—qma




10.

H.

12.

13.

F TRIOR Paper Gold Y §f%5 ?
Which currency is known as paper Gold?

(A) ST THR (US. Dollar)  (B) RfFF dive (Sterling Pound)
T (Euro) (D)TH E 37 (SDR)

AF. 00 B T THA mmmwm

S T R AEET B ?

According to the Budget speech of F.Y. 2071-72, how many public
enterprises under operation in Nepal are in net profit ?

(A) 15 . (B) 17

) 19 (D) 21 :

s e a9 TAREE S5 (CEDA) S9am wedr 1 2w
F?

CEDA was established in the cooperation of ...

(A) WA (India) B) A& (Usa)

(C) &F (Russia) . (D) = (China)

aﬁm«wwmmammﬁmﬁam

TEI T ?

To what percentage of population is targeted to have access on
electricity by the end of thirteenth plan? '

(A) B83% - (B) 85%

(C) 87% (D) 90%

I AR A O WA ST SR F 5

@ &2

On the Basis of Production capacity, choose the correct series of
Hydropower project in descending (larger to smaller) order?

(A) THONTUSH - AT - fawd - fafed - 9w

Kaligandaki - Marsyangdi - Khimti - Chilime - Bhotekoshi

| ®) TR - i - R - T - fafR

Kaligandaki - Bhotekoshi - Khimti - Marsyangdi - Chilime
(C) FrONISH - Teiedl - faw - e - Tafed
Kaligandaki - Marsyangdi - Khimti - Bhotekoshi - Chilime

(D) TG - TR - fafed - fardt - SR

Myarsyangdi- Kaligandaki - Chilime - Khimti - Bhotekoshi

PR TRPuRY ST



14.

15.

16.

‘mmmﬁﬁmmﬁmvmu

Consider the following statements regarding the tourism of NepaL
3) AU GV el T earen B e |
Most of the tourist visti Nepal for trekking.

) ﬂﬁaﬁmaﬁlﬁwnﬁ?aﬁfzoumﬁ1

For tourism promotion, the year 2011 ‘had been observed as Nepal
Tourism Year.

3) oreH TR S e qAT HERYEe AT |

In Nepal, most of the tourists are from Europe.

IYARE HATHER FA Wé F

(A) TE@Any -(B) 1T 27T (1 and 2 only)

(Cy 2T 3HA (2 and 3 only) (D) 29 (Only)

TR gReRS SAkRa el A e ToHTEER F F
fom & 2 =9 THE

Choose correct order of highways based on the length of it in
ascending order.

(a) Tagref aeme, geat Temnl, BrgE TSy, Tt TR

(Siddhartha highway, Prithvi highway, Tribhuwan highway, Mechi
. highway)
) FoEA Ty, qea’"tmﬂ Fergred T, A=t T

(Tribhuwan highway, Prithvi highway, Siddhartha highway, Mechi
highway)

() T Temw, T’H@ﬁmﬂf Qe T, foragE T

(Mechi highway, Siddhartha highway, Prithvi higheay, Tribhuwan
highway)

(D) QWW Fazmel Temw, Tt Tsmd, B TSmy

(Prithvi highway, Siddhartha highway, Mechi highway, Tribhuwan
highway) :
wSvE 3% & W wEtud 9 7

Agenda 21 is related 0 ...c.coe
(A) HEEL0 (Environment)

(B) Tﬁfﬂ'ﬂ fg&¥ (Infrastructure development)
() et fa=FTE (Social development)
(D) T4 T (Human development)
o T, ST H - 2003



e IRH AR Green Belt Movement 51 Heemys: 5 '?

17.
Who is the founder of Green Belt Movement ? :
(A) Gaylord Nelson (B) Wangari Maathai
(C)  Paul Watson g (D) John Muir

18. mmzoesmmyﬁmvﬁmaﬁmm
TRERH gRem B e ?
What is the percentage of female headed houssholds in Nepal as
per National census 20117
(A). 25.2 : (B) 25.7
(C) 269 ‘ (D) 28.1

19.  WEEEE 9YH FEieT w9 ?
Where is the Headquarter of CITES ?
(A) @USH (London)
(B) U9 (Paris) ‘
(C) =g f8F. (Washington D.C.)
(D) ST (Berlin) -

20.  WYE ITWOE 1S e fronging |
Match group I with 11 and select the write answer.

HHE (Group) 1 GHE (Group) 11

. HHIG w0 g ﬁafa (Makalu Barun|a.  THAT (Rasuwa)

National Park)
2. wsdE Uiy ﬁﬁﬁ (Langtang National [b,  Sla1 (Doti)

Park)

(3. %S UM 558t (Khaptad National Park) |b,  S1cdl (Dolpa)

4. V-BEIVS UG TS (She-Phoksundo |c. Hgamasr
National Park) (Shankhuwa Sabha
A ¢ 2-d 3-b : 4-a i .

(B) 1-d 2-¢ 3-a 4-b
(C) 1-d 2-a 3-b T dec
(D) 1-b 2-a 3-d 4-c

21, YR FHT S HAG: A, G, TO T B T 2

Where are copper, gold, iron and coal found respectively in
Nepal?
(A) FOTHI, FSH TUEwH, GoaE, fI9ET (Kulekhani, Kali

gandaki, Phulchoki, Chitwan)

[%] vt wroreg v .



22.

23.

24.

25,

FI@HT, FE TUSH, FSH, W (Kulekhani, Kali gandaki,”
Pyuthan, Palpa) aw
) YR, "’WEH% A, Tedl (Chovar. Kali gandakl. Salyan,
Palpa)
) W, FIG TUSHI, THH, QI (Phulchoki, Kali gandaki,

Salyan, Palpa) i

AT IoT SEEN HUH U TEEEH M HA: F Hes ?

(a) wEEE, faeTm, 9@y, ofedR, AW (Kathmandy,
Biratnagar, Pokhara, Lalitpur, Bharatpur)

(B) FOAE, UREw, RN, FEAR T WEE (Kathmandy,

Pokhara, Lalitpur, Biratnagar, Bharatpur)

() FeEE, faueTR, ofeaR, WU, WA (Kathmandy,
Biratnagar, Lalitpur, Pokhara, Bharatpur)
(D) FHISATS!, UE, Sfeaq, WA, AT (Kathmandu, Pokhara,

Lalitpur, Bharatpur, Biratnagar)

Y ERAETATAT August 6, 1945 A1 fare®ie Tt Ty a9 TH
A2

What was the name of the atom bomb which was exploded on

August 6, 1945 ?
(A) Little Boy , (B) Little man
(C) FatBoy (D) Fat Man

a@mﬁmﬁmmmﬂmﬁmqmﬁ ?
The Weight of an object will increase significantly if it is take ... -
(A) g9 ﬁ*_s'@'lz “IH@I Eecieil (F:‘ro_m pole to equator)
(B) ’{H@ wER gq ﬁ’@'ﬁl (From equator to polc)

m gﬂﬂ'm (To the top of a mountain)
(D) E@ﬁ gl (To the center of the carth)
Jonarthan B. Postal service Award - 2014 FHSE T4 TRIH & 7

Who has been awarded the Jonathan B. postel service Award
20147

(A) TFFTEY S B (Elizabeth Jake feinler)

(B) WRIER T (Mahabir Pun)

() WI. fF&A™ 9 (Prof. Kilnam Chon)

(D) SI. ¥ ¥Fd (Dr. Sanduk Ruit)

mmm.mmm—ms



26. ol snfaee 93 TR w2
Whe invented Television ?
(A) TT=SAT (Roentgen)
(B) 3IOFIE UTH 9 (Alxander Graham Bell)
“(©) A fagE (John Biard)
(D) ST "fazﬂﬁﬁﬁ (Benjamin Franklin)
27.  CREREER fc‘lma?r Fon dmfEeee faem ma w4 ahﬁxas’l
TR ?

What is the name of new drug developed by scnentusts as an
alternative to antibiotics?

(A) RohE (B) EEHI=H (Dalvance)
. C)* AR (Orvatives) ) fadsdr
28. el oy Y W R oiEE TR )

Match the following and identify correct answer

HHE I Group 5 HHE 11 Group
1. e Tl a. SIS (Crescograph)
2, Qs‘q EIEE b, THTEHIERY (Microscope)
3. TR WHTOWRE  [c  HE TRV (Heart mransplany)
4. TR W5 99 d.  TEZGS AT (Test tube baby)
Code
(A) “1-c,2-d,3-b,4-a (B) 1-a,2-¢,3-b, 4-d
(€) 1-b,2-d,3-a,4c (D) 1-a, 2-d, 3-b, 4-c

29. 1 SoTeE 7 Wt Tod gARIE |
Identity whether following statements are right or wrong.
* Hiw & SaTa SN EHTIT{P'f D | (Cosmic Rays is dangerous
to life.) :
2. TEHUIH T &FET B | (It contains protons and radiation.)

(A) gﬂ gt (Both are right)

(B) "1W& 274 (1 right 2 wrong)
(C) 171@d 28l (1 wrong 2 right)
(D) Eﬂ‘ T3d (Both are wrong)

[95]. wt wrrueg de e



30.

31.

32.

33.

34.

R I frar TreT T aTE TeE TS STERe W
TR AR AR

During the 18" SAARC summit, which theme has been agreed by
all eight member countries by engaging in formal agreement ?
(A) -STATERUITE HLET (E_".nvirénmental.Conservation)
SATTETET mﬁ 'H'{EI'UT (Protection of migrant workers)
(©) E‘[m S5 (Hydropower energy)
(D) SATIR &SI (Trade facilitation)
s TgEeR Wl weied 7 e e o 2
Where was the 16"Summit of non Aligned countries held ?
(A) T (Iran) (B) <fETor sAfme (South Africa)
(C) AT (Cuba) . (D) FUSHTHAT (indonesia)
Yy Ty S HaH g G WhA S gewnh qe f 2

When did Nepal participate in United Nations Peacekeeping
Operation for the first time ?

(A) 1958 AD. (B) 1966 A.D.

(C) 1974 AD. (D) 1978 AD.

TR T FEAOT oovcensinenenss MR D |

The Headquarter of UNESCO is at ...

(a) T (Rome) (B) ﬂﬁ‘m (Geneva)
(©) U (Paris) (D) HH (New York)
TS T AT el foRed |

Match the Organization and it's Headquarter and select the-
correct one.

WS (Organization) TEATod (Headquarter)

2 WYH U Wod fGvafameg (1. SHYT (Geneva)
(UN University ) :
b. - farea MR HTeT (WTO) 2. Anaged ﬁ'.ﬁq. (Washington DC)
c.  oT<ifgd Hgl $W (IMF) (3. e (Nairobi)
4 HIH Uy GHE ameRv(4. AT (Tokyo)
A (UNEP) ,
(A) a4,b-1,c-2,d3 . (B) a-l,b4,c-3,d-2
(C) a-2,b-3,c4,d-1 (D) a-3,b-2,c-1,d4

-mmmﬂ.mm-ma



a5,

36.

37.

38.

mmmmﬁﬁmmmﬁtmm WA
=4 farm <irer o T adt SS ergRg |

Match the following countries with the year of Nepal's diplomatic
relationship establishment and select the correct answer.

qTS (Country) . Y T WCH T (Year of
Establishment) ‘
a.  STS(feAl (Argentina) i 1963 AD.
b. STSRY (Bangladesh) ii. , 1958 A.D.
c. ST (Germany) iii. 1972AD.
d. . 35S (Israeh) iv. 1962 AD.
" (A)  a-i, b-ii, c-iii, d-iv i (B)  a-ii, b-iii, c-iv, d-i
(C) a-iii, b-iv, c-i, d-iv (D) a-iv, b-iii, c-ii, d-i
fire Jwree AR R TR :
Consider the following countries.
1. T (Brunci) 2. TFaam (vietnam)
3. R (Laos) - 4. ™R (Myanmar)
S (ASEAN) 3 Wew1 WY Ieofed Iveewr 57 1 51 7
(A) 1T2(1 & 20nly) B) 1,2T 39 (1,2 &3 only)

(©) 1,2T4TE (1,2 &4only) (D) HIEH TS (All)

T 2014 AT 8 ARG T TR THHTA IS 7. 370 A
RN FAOTOTEIR Feih! DI ISH WSB! a4 ?
The aeroplane of Malaysia Airlines flight no. 370 that disappeared

on 8"March 2014 took off from Kualalumpur for which
destination ?

(A) WHTE (Shanghai) (B) 3T (Beijing)

(C) TS (Manila) (D) ATHAT (Tokyo) -

A, 2071-72 H T6IE ATAR A 98 Ao S TRESE afis
sitafy sTar @< @va S w_E 1 T 2

According to 2071/72 budget how much money will be given
annually for the medical treatment to the senior citizens above 70

+ years of age ?

(A) Rs.500/- (B) Rs. 1000/-
(©) Rs. 1500/- (D) Rs. 2000/

TR Hrelaiog aex L. f



39. =R sy fden 2014 Re@ @ T & ?
Which country won the twenty-twenty world cup circket in 2014?
(A) WRA (India) _ (B) WIThEIT (Pakistan)
(C) #HHT (Srilanka) (D) “STSTGY (Bangladesh)
40. g e "thme Tl w5 Ows BT ?
’ Who is the author of famous book ‘Animal Farm’?
tAj EcECR (George Arwel)
(B) e %ﬁ;ﬂa (Earnets Hemmgway)
©) af¥s (Churchil)
(D) IS HIEH (Karl Marx)
41, TRV W ITFTEGT R
. Bull fighting is national game of ............. '
(A) TIS (ltaly) (8) UIATUE (Poland) ~
(©) T (Spain) : ) F&E=T (Sweden)
42. mqﬁmamﬁaﬁzouaﬁmmmm
5
Whoe among th following has received the Nobel prize for
Economics in 2014 7
(A) T57 fF (Jean Tirole)
(B) IS BT (Eugene Fama)
(C) E’Rf fax '3797" (Lars Peter Hansen)
(D) TfM 3. UY (Alvin E. Roth)
43, WE 1WE 1A e Free ey T O TR S, |

Match Group I and Group II and choose the corect answer

WE (Group) I - 98 (Group) 11

(A) 31 §aTE (AL Shabab) 1. Wl (France)

(B) el EH (Boko Haram) 2. ZH/ARE (rag/Syria)
(C) T 258l (Charlie Hebdo)  |3.  TIEIILAN (Nigeria),

(D) Lt ea = (Islamic State) |4 W(Soryalia)
(Code)

(A) a-1,b-2,c-3,d4 (B) a-2,b-1,c-4,d-3

(€) a-3,b-4,c-2,d-1 _ ‘(D) a4,b-3,c-1,d-2

mmm,mm-ma



44. ¥ 2014 FIFA World Cup H ¥=r9" 51 WIee $H 3194 7
Which of the following saying is/are corect regarding FIFA World
Cup 2014 7 :
1. @fn @ JH4t T wifaesE WUH! TG | Final Match was
Beween Germany and Brazil.
2. TR W@ Mo T™ Gorl feine t‘m"r T |- Lionel Messi
scored the highest number of goals.
3. UiumETew gA TR e, A, aifvie T e
&1 | Netherland, Germany, Brazil, Argentina has reached in semi final.
(A) 2 T3 (2 & 3 only) (B) 2HIH (2only)
(C) 3HHF 3 only) o 13 Zqﬁ(l&l’only)
45. UM SEVAT 2068 FTER e 15 S| syaiﬁﬁﬁmasﬁr
- i e 2
According: to National census 2068 which percentage of
population belongs in 15 to 59 years of age ?
(A) 51.69% (B) 53.96%
(C) 56.69% (D) 56.96%
46. Rrenfos vHa q@o Frmsd §7 WM RHE S ?
" Where is the Shivalik Range situatged ?
(A) TUE YT (Terai Region)
(B) g aur fist wdw (between terai and inner tarai n:glon)
© rﬂqlar‘ uém (Himalayan region) . ]
(D) it 78w T fﬁfqﬁ'ﬂ' m foreran (Between inner terai and

: himalayan region)
47. AT FARTeH TE c TR AR T T ?
Which of the following mountians height is less than 8000 meters?
(A) WU % R (Mountk. 2) (B) FARKG (Manaslu)
(C) TG (Makalu) (D) I THHH (Mount Elbrus)
48. SV MOE™ 21 June WS FA BT P TS ?
Which season started in southern hemisphere after 21 June?
(A) ¥RE ZE] (Autumn season) .
(B) . rea/ast g (Summer seawson)
(C) 4= g (Spring season)
(D) TIRR/STE g (Winter season)

W Sy e

N\



49,

50.

51.

ey o s i

Match the following and select the right answer from the codes.

e (Group) A W% (Group) B
a. SN (Ankara) |1, SATTST (Canada)
b. A {Toronto) 2. T (Turkey)
c. T SR (Rio de Jenerio) [3. WSS (Brazil)
d. HrEwE (Mombasa) - 4. & (Kenya)
. @IS (Codes) !

a b € d
(A) 2 1 3 4
(B) 1 2 3 4
(C) 4 3 1 2
(D) 4 3 2 1

!{«ﬁl’awﬂﬂaﬁmmmﬁmmmm:}?

Which of the following groups has corect ‘order of cities of Nepal
from cast to west?

-(A) ¥EEY, W@, 9299, dreteat (Bhadrapur, Bharatpuir, Butwal,

Taulihawa)
(B) WWY, WEW, Iedl, §2aG (Bharatpur, Bhadrapur, Taulihawa,
Butwal)

(€) Y&, T, '%mrg( AISEAT (Bhadrapur, Butwal, Bharatpur,

Taulihawa)

g (b) A, 499y, 999, ﬁ?ﬂzm (Bharatpur, Bhadrapur, Bhutwal,

Taulihawa)

Siret frerm Jos FT 1 6% 5 2

Which one is correct to the following pair matching?

a. a1 Y& (Rauta poind) 1.  HEd (Surkhet)
b. WM §8 (Kamini lake) 2. ML (Bhojpur)
c. o9 IS (Bulbulelake) 3. I (Bara)

d.  9redr '@I’@'ﬁ' (Salpapond) 4. 3SFYI (Udayapur)

(A) a-4,b-1,c-2,d-3 i (B) a-4,b-3,c-1,d-2
(C) a-2,b-1,c4,d-3 . (D) a-2,b-1,c-3,d4

waﬁwm.ma@m@—ma



52.

53;

55.

56.

S7.

[5¥] wtw wpey wem @

The seasonal reversal of winds is the typical characteﬂstlcs of

(A) ‘{quma’rq ST dlY (Equatorial climate)

(B) ‘{qw STPETY (Mediterranean climate)

(C) HTYHT SP9Tg (Monsoon climate)

(D) I S FER (All of the above climate)

AT S T T S e ?

What is the slogan of American war of independence?

(A) S, A T g@ﬁ @IS (Life, Liberty and pursuit of

~ happiness)
(B) FHMaT, Wa-=dr, fawm (Equality, leerty and Devclopmem)

©) m, TFAAAN TEEAT (Equity, Liberty and Autonomy)

(D) SufFEvERE Eﬂjﬂﬁ (Indeperidence from Colonial rule)

S STaedTR! qui HT Seu1 U © ?
In which Veda description of caste system is found 2
(A) T (Rigveda)

“(B) HIHAT (Samveda)

(C) TIIT (Yajur Veda)
(D) TR %j} 7 B (None of above)

ST Tt R wom g 2

When was the Betrawati treaty signed ?

(A) 1843 BS. (B) 1842 B.S.
(C) 1845BS. (D) 1849B.S.

T 022 A TR ISR STVAT FTER ST S I Fe
Ha A ?

As per the 2011 census, how many languages are spoken in
Nepal ?

- (A) 110 “- AB) 113

© 119 (D) 123

ST wheT % Yt faf TR @ 2

In which of the following style Chagunarayan temple is
constructed?

(A) wRITST S (Pyagoda Style) (B) T IS (Stupa style)

(C) TrEe st (Shikhar style) (D) Tfereht ﬁq 9T gigT (None of
' the above)



58. el o’ $iar T IR ey, |
Match and select the right answer from the codes.
E (Group) | WYE (Group) Il
a. YW HGS UST (First MallaKing) |1. W=USed (Prachanda Dev)
b. W St (Shanti shree) 2. a9 HES (Pratap Malla
c. m m-(Taleju Bhawani) 3. 3T &F (Ari Dev)
d  THT 9@ (Rani pokhari) 4. Hft= AES (Mahindra Malla)
FIE (Codes) :
(A)  a-3,b-4,c-2,d-1 (B) a-3,b-2,c-1,d4
(©) a3,bl,c4,d2 (D) a-1,b-3,c-2, d4
59.  TUE 1T 197 ST ToRgEe T Seae §e 0 e |
Match list I with list II and select the correct answer using \the
codes given below. )
Toun gEted w2 "3T9 (Places)

- (Events related to Buddha)

. 37f<19 SYRW (Last sermon) - <L 1Y AT (Bodh Gaya)
qad W& (Enlightenment) 2. T’E\’ﬁ T (Kushinagar)
qfEge! 399 (Fist sermon) 3.  HRAM™ (Sarnath)

g (Death) 4, SENST (Vaishali)
5, @GR (Koashambi)

HE (Codes) '

.a b c d
(A) 4 1 3 2
(B) 5 2 4 3
€y 3 1 - 2
(D) 2 3 5 1

60. AuEH F mmwnmmﬁﬂwmmm

e m RS A ?

In which place of Nepal, the full size statue of King Jaya Verma
was discovered in 1992 ?

(A) HHYL TER AT (Bhaktapur Durbar Square)

" (B) HISHIEIH HIfeTE & (Maligaon area of Kathmandu)

(C) W EICRIECE] (Jawalakhe] of Lahtpur)

| (D) IR T (Bancpa of Kavre)

waﬁmw TETHAES®] Wel - 2083



61.

'63.

- 65,

66.

- 67.

Part (B) - Aptitude Test (25%2)=50 Mark
The average of three consecutive numbers. is N. If the next two
numbers is also included, how shall the average vary ?

(A) It shall remain the same, (B) It shall increase by |

(C) Itshall increase by 1.5 (D) It shall increase by 2

What number should replace the question mark ?

AN =L

A 2\ (B) 4
© .6 - (D) 8

Which number should replace the question mark ?

1,50, 6, 45, 11, 40, 16, 35, 21, 30, ?

(A) 30 - - (B) 24

€ 26 . (D) 28

Ten years ago, P was half of Q in age. If the ratio of their present
ages is 3:4, what will be the total of their present ages ?

. (A) 45 (B) 40

(C) 35 (D) 30

In a game of eight players lasting for 70 minutes, six substitutes
alternate with each player. This means that all players, including
the substitutes, are on the field for the same length of time for how

long ? -
Ay 12 - (By 21
(C) 40 . (D) 14

In all letters in the world MERCIFUL are arranged in
alphabetical order and substituted by the alphabet preceding
them in the English alphabet what will be the new arrangement of
letters? _

(A) BDHEKLQT (B) BDEHKLQT

(C) BDEHLKQT . (D) BDEJMLQT

Which letter goes on empty segment ?

(A) s+ (B) P

© Q D M @

DOG
OOE
@06.0)
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68,

69.

70.

*

Which one of the following is not an anagram-uf a country ?
(A) ATHIN LAD (B) ALASIMAY
(C) ANOBLECAR (D) BAGHANDLES

Use the diagram given below: how many cubes do you need to

make the step 9 steps high?

s
L

(A) 36 cubes (B) 40 cubes
(C) 44 cubes ! (D) 45 cubes

Four people witnessed a mugging. Each gave a different

description of the mugger. Which description is probably right ?
(A) He was average height, thin, and middlc aged.- ’

(B) He was tall, thin and middlc aged.

(C) He'was tall, thin, and young.

(D) He was tall, of average weight, and middle aged.

Directions for the following 5(five) items: Study the table given below,

and answer the five items that follows:

For students W, X, Y, Z appeared in four papers; I, I.MandIVina
test. Their score out of 100 are given below in the table. Where ‘A’ stands for

absent.

‘| Students

Papers
I 1L I IV

59 43 51 A

60 81 45 ) 55

72 76 A . |68

N[ <] x| =

74 A 71 ' 65

71.

72.

73.

Which candidate has secured between 60-65% . marks
aggregate ?

A W (B) X

(S 4 : D) Z

Who has.obtained the lowest average in aggregate ?

(A) W (B) X

© Y (D) Z

Who has obtained the highest average in aggregage ?

(A) W B) X '

(€} =i ; D) Z

in



74.

75.

76.

1.,

78.

79.

80.

In which paper the lowest -marks were obtained by the
candidates?

(A) 1 y ; (B) 1

© 1 - © (D) IV

Which candidate has secured the highest percentage in the papers
appeared?

(A) W i B) X

© Y (D) z

‘Dress’ is related to.‘Body’ in the same way as ‘Bangles’ is related
to:

(A) Glass : (B) Lady

(C) Wrist (D) Beauty ;

What would replace the question mark (?) in the given series 7
B, ESD:F,7,H,J, 7, L : :

(A) LM - (B) M,I

C) LN D)y LM

Find out the alternative which replaces the question mark ?
South: North: West:?

(A) North " (B) South-West

(C) North-East ) (D) East .

In a queue, Mr. X is twentieth position from the front and Mr.Y is
twenty one positions from the end while Mr. Z is exactly in
between Mr. X and Mr. Y. If Mr. X is ahead of Mr. Y and there
are 60 .persons in the qucue, how many persons are.there in
between Mr. X and Mr. Z ?

(A) 18 - (B) 10

© 9 " () 8

Directions: In the following, a statement is given which is followed by three

course of action number I, II and III. You have to assume everything in the

.statement to be true, and then decide which of three suggested courses of

action logically follows for pursuing.

Statement: Every year thousands of cligible students do not get admission in
colleges both in urban and rural areas after passing their school leaving
certificate examination.

. Course of Action:

I More colleges should be set up in both urban and rural area.

II. * The number of schools in both urban and rural areas should be reduced.

III. More School should offer vocational courses to equip student for talking
up their-vocation after completing their school education.

(A) OnlyI follow. (B) Only II and III follow.

(C) Only I and III follow. (D) Only I and II follows

[55] st wrrafeg e m o



81.

82.

83.

What is the maximum numi)er of square in the following grid?

11
I

(A) 10 (B) 11
(C) 12 - (D) 13

. Which of the following diagrams indicates the best relation

between reward, punishment, and reinforcement 2

.G@Q@o

< (B)

Which three of the four pieces below can be fitted together to
form a rectangle? & :

(A) ABC (B) ACD

(C) BAD , (D) CBD

Choose the box that is similar to the box formed from the given
sheet of paper (X).

L so9s

(A) 1and2only (B) 1,2and4 only.
(C) 1and4only (D) 1,2and3 only

maﬁazam.mm-ma



s

- 85. - Which figure will continue the same series as established in the ,
first series?

EAGC (A*X( cc{x: =}
X = g -
WA O] glx x[C ¢ ' _
T Cc «¢ ¢ ¢
[ om @] O ?
l(_) =3 =7 =T =

“A) 1B) i<y (D)

Part (C) 4 English language competence Test (15%2) =30 Marks
Attempt all questions

Read the passage below and answer the questions that follow:
Throughout human history there have been many stringent taboos concemning
watching other_people eat or eating in the presence of others. There have been
attempts te cxplain these taboos in terms of inappropriate social relationships either
between those who are involved and those who are not simultaneously involved in the
satisfaction of a bodily need, or between those who are alrcady satiated and those who
appeared to be shamelessly gorging.
" Undoubtedly, such elements exists in the taboo, but there is an additional element
which a much more fundamental importance. In pre-historic times when food was so
precious and the on-lookers so hungry, not to offer half of the little food one had was
unthinkable, since every glance was a plea for life. Further, during those times, people
existed in nuclear or extended family groups, and the sharing of the_food was literally -
supporting one's family or, by extension, preservm g one's self.

86. . Insupport of the argument in the passage about the validity of the
taboos against eating in the presence of the others who are not
eating, would imply that the society.

(A) Had always had a plentiful supply of food.

- (B) Emphasized the need to share worldly goods..
(C) Emphasized the value of privacy.
(D) Discouraged social interaction.

87.  The writer's hypothesis concerning the origin of taboos against
watching other people eat emphasizes the
(A) General palatability of food.
(B) Religious significance of food.
(C) Limited availability of food.
(D) Various sources of food.

ity TP I L B



88.

90.

91.

92.

93.

94.

95.

According to the passage, the author believes that the past
atiempts to explain some taboos concerning eating are ;
(A) unclear (B) inelggant

(C) implausible (D) unimaginative

In developing the main idea of the passage, the writer does one of

the following.

(A) Gives a systematic picture of family life.

(B) Recognizes a system designed to guide personal behaviour.

(C) Simplifies a complex biological phenomenon by explaining in the terms
of social needs.

(D) Redefines the earlier attempts to explain the origin of taboos in society.

Which one of the following phrases state the central idea of the
passage?

_(A) Social relationship (B) Survival of the self.

(C) Survival of the fittest. (D) Survival of the group.
Vocabulary Question .

Choose the right meaning of the given idiomatic phrase, "He
burnt his finger by interfering in neighbor's affair"
(A) Got himself into trouble " (B) Bumt himself
(C) Got himself insulted. _ (D) Got rebuked.

_ Choose the right word or phrase that is nearest in the meaning to

the given key word, "DOCILE".

(A) -Vague (B) submissive

(C) Stupid (D) Stubbom

Choose the closest in meaning to the underlined word in the given
sentence. "Last night's even remarkable"

(A) Happening (B) Striking

(C) Escapade (D) Rampage

Pick out the word/phrase opposite or nearly opposite to the
meaning of the given word "ANTIPATHY"

(A) Indifference (B) Willingness -

(C) ' Fondness (D) Liking

Choose the right one-word substitution for the underlined: "Life

history of a person written by another"
(A) Autobiography (B) Bibliography

- (C) Biography ’ . D Memoir

mmm,mm-ma 1



Syntactical ability Question:

Choose the correct alternative.

96.

97.

98.

99.

100.

Heinquired .......coiveennes .
(A) that where I studied. _ (B) where [ studied.
(C) where I will study. (D) that where I will study.
I went to India .............. ' )
(A) in April 25,2012 (B) on April 25,2012
(C) April 25,2012 (D) on April 25, 2012
The professor and author of this book ............
(A) has been Dr. Koirala . (B) were Dr. Koirala
(C) isDr.Koirala - (D) are Dr. Koirala
TBaw 2oiiuu.sii
(A) the cow is let loose. = (B) the cow is being let loose.
(C) the cow was let loose. (D) the cow was already let loose.
He attacked .......c..cc.... ' :
(A) onme * (B) against me
- {C) me (D) upon me

SR TTePuRey do o1 B



Bl Y1 AT TGARR A SR, s awe fafi= Ja wE @
W e wE afya vewl e s siEifaes fefea wiem
wHa: 3 W ‘ © o fafd: Rewt- -

' TUiig: Leo
o fada |
faug: o= yonet (Governance systems)

: =1 geTeesl S @m (Answér of the following questions)
T GUSH IR ATO1 TS I FEITD | I FRYAH
TS | Th T3 SRWR THHE el B |

grs - A

1. TureT fodsimum EEEE Seod e W W e 1,
ok THIFTH T IET TN e 3e9E THAE | (o)
R AUeE TOE WE Yo SReE W tekEn e o
'wﬁ@:mwmﬁﬁwmwmﬁaﬁw
THRIH | (20)
1 U W o ek fe Aot 9 ? Juee e
mmmmﬁmmaﬁmt (4+4)

WE-B

¥, ﬁmmmmﬂwaﬁmmwﬁmaﬁuﬁ 063
mmgaﬁﬂwaﬁ%a?éqﬁm (4+4)

Y. Blwdl=e IMEA TS AR AaH Hed Ivod e | U
ﬁﬂhﬁmmﬁmﬁﬁmﬁwml ()

wvE-C |

¢ fogdm A s & @ 2 Ao faedE s aemE a9n

feouit T | o (3v9)

o, AvEn WEsE B TgIET T & S S R 7 ? 30w
TS, WS Y GEuan el AR i == T L (4ay)

maﬁazaqﬁm.mm-qms :



o memwmﬂym#ﬁm
WH T | THOE THIEHERT T & A IS Ao THIS 2
e feger | - (Ro)

' T -D '_ | :

Q. FUIER WESE T Ayet SHAfs Se T T SHehee
mmmmmmmzwmﬁ
W%WWWWB@E?WGW@H!(HH)
0. HEWINASH TﬁG’FﬂEﬁI W%fm IS YU YUR  GAERER
mﬁ'ﬁ@qﬂﬂiﬁﬂl 7 (20)
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